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() F=Fh&E

SHI2FFE (20205 £ ) SFISFEE (2021 F )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 318 12,900 10,900 319 13,400 11,400
BERE (BED) 184 6,579 5,668 177 6,653 5,805
REARHhigi & 62 2,511 2,122 62 2,604 2215
REARTH 62 2,511 2,122 62 2,604 2215
Fif i E 2 66 42 2 61 38
F1H
Fih
S EHT 2 66 42 2 61 38
F R it 3 68 21 2 52 3
REW - - - - — —
EX i - - - = — -
FERHET
T BE ET 2 50 5 2 50 2
M ET - - - - - —
FN7KET 1 18 16 0 2 1
EEA s et 9 185 130 9 180 126
LEE T 9 185 130 9 180 126
3 thh i et 4 21 20 1 38 38
Zithth 3 17 17 1 38 38
anm
KEET
% (5 HT 1 4 3
] i dth 4k 51 1 8 7 1 8 7
fAl &% - - - - - -
/N E BT - - - - - -
/|\EHT - - - - - -
ELLF - — - - - -
= #xET - - - - - -
FEEA 1 8 7 1 8 7
B BT Ex At - — — - - —
i 5t 5 123 102 5 123 102
{EN i BT
=Z B0 - - - - - —
5 3 AT 5 123 102 5 123 102
R {A ET - - - - — —
(LI ZRET
J\ i ET 5 140 120 5 140 120
J\Kh 5 140 120 5 140 120
JKJ I ET
EdihiEgEt 73 2,796 2,480 70 2,723 2,467
Kizh 45 1,680 1,480 44 1,760 1,600
EJbET 17 680 594 15 540 479
2 Z ARHT 11 436 406 11 423 388
TR EE Hhis B 3 58 55 1 48 45
AS
FRET 1 28 28 0 25 24
% B KRHT 2 30 27 1 20 18
ZHIE]
K EFT 0 0 0 0 0 0
HEH - - - - — -
£7|(J':' — — — — — —
LT HE 0 0 0 0 0 0
BREE 44 - - - - - -
HIFVYHT - — — 0 3 3
K Hhis 5t 17 603 569 18 676 643
LXES 14 546 524 14 604 581
XEmH 1 22 19 1 34 29
= JL BT 3 35 26 3 38 33
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(9) MALE

SHI2FFE (20205 £ ) SFISFEE (2021 F )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 824 17,300 782 18,000
BEERE(RED 589 13,458 11,936 602 13,941 12,449
REARHhigi & 8 163 147 13 305 275
REARTH 8 163 147 13 305 275
Fif i E 2 50 40 2 47 37
F1H
Fih
S EHT 2 50 40 2 47 37
E & i st 9 215 95 6 143 38
REW - - - - — —
EX i - - - - — -
EEHT
T BE ET 5 120 20 5 120 20
£ IMET 0 0 0 - - -
FN7KET 4 95 75 1 23 18
B A Hhisk 9 211 195 9 220 204
LEE T 9 211 195 9 220 204
3 thh i et 276 6,041 5,553 269 6,280 5,842
Zithth 18 320 220 18 310 220
&iEm 5 65 59 2 47 44
KIEHT 221 4891 4644 215 5,105 4,842
% (5 HT 32 765 630 34 818 736
] i dth 4k 51 143 3,853 3,360 156 3,939 3,445
Bl &% - - - - — -
1 /NE BT - - - - — -
NESL 5 102 37 6 127 46
ELLF — — - - — -
= #xET - - - - — -
FEEA 138 3,751 3,323 150 3,812 3,399
B BT Ex At - - - - - —
28k hig 5 125 2,593 2,224 128 2,654 2,273
{EN i BT 0 16 16 0 10 8
=Z B0 - - - - - —
5 3 AT 125 2577 2,208 128 2,644 2,265
B & HT - - - - — —
IR
J\ i ET 2 26 23 2 26 23
J\Kh 2 26 23 2 26 23
JKJ I ET
EdihiEgEt 2 52 46 3 69 62
KT 1 20 18 1 25 23
=) 1 20 18 1 26 24
EZEKHT 0 12 10 1 18 15
TR EE Hhis B 14 247 246 13 249 241
AEh 0 3 3
FRET 0 1 1 1 23 16
% B KRHT 1 7 6 0 4 3
i BT
K EFT 0 0 0 0 0 0
HER - - - - — -
£7|(J':' — — — _ _ _
LT A 7 140 140 7 140 140
BREE 1 - - - - - -
HIFVYHT 5 96 96 5 82 82
KEHIFET 0 7 7 0 9 9
LXES 7 7 9 9
XEmH
ZJLET
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a1-1 FEexY

SHI2FFE (20205 £ ) SFISFEE (2021 F )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
#HERE (RE) 310 11,100 10,300 305 11,800 10,900
BEERE(RED 182 6,193 5,509 165 5,910 5,181
REARHhigi & 59 1,560 1,220 54 1,700 1,330
REARTH 59 1,560 1,220 54 1,700 1,330
Fif i E 2 40 36 1 18 15
F1H
Fih
ES-:L) 2 40 36 1 18 15
E4L& it 20 760 760 20 650 650
REW - — - - — -
EX i 20 760 760 20 650 650
EEHMET - - -
T BE ET
M ET - - - - - -
FOoK BT - - - — — —
EEA s et 4 113 105 4 110 100
(LEETh 4 113 105 4 110 100
% i =t 3 17 14
Zithth
anm
KEET
% (5 HT 3 17 14
] i dth 4k 51 13 582 490 13 529 445
Bl &% 11 560 471 11 508 427
/N E BT - - - - - -
NESL - - - — — —
ELLF — - - - - -
= #xET - - - - — -
FEEA 2 22 19 2 21 18
B BT Ex At - — - - - -
28k hig 5 35 1,414 1,330 35 1,395 1,250
{EN i BT 5 175 150 5 175 150
=Z B0 - - - - - -
5 3 AT 10 420 400 10 420 400
R {A ET - - - - — -
IR 20 819 780 20 800 700
J\ i ET 43 1,614 1,471 36 1,437 1,321
J\Kh 40 1,460 1,317 33 1,286 1,170
K J 1| BT 3 154 154 3 151 151
EdihiEgEt 0 12 6
Kk 0 4 2
=) 0 4 2
EZEKHT 0 4 2
TR EE Hhis B 1 17 13 0 7 6
AEh
FRET - - - 0 1 1
% B KRHT 1 16 12 0 5 4
i BT
K EFT 0 0 0 0 0 0
HER - — - - - —
FEARF — _ — — — —
LT HE 0 0 0
};}U%E'i'::- — — — — _ _
HIFVYHT 0 1 1 0 1 1
KEHIFET 2 64 64 2 64 64
LXES 6 6 4 4
XEmH
ZJLET 2 59 59 2 60 60
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(11)-3 ZFpAY

SHI2FFE (20205 £ ) SFISFEE (2021 F )
X5 et ETE IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 567 18,300 16,500 561 17,100 15,400
BEERE(RED 416 13,744 12,176 399 12,701 11,072
REARHhigi & 7 219 197 7 211 190
REARTH 7 219 197 7 211 190
FiR s s
F1H
Fih
EX4:) - — - - - -
E4L& it 82 2,963 2,863 79 2,763 2,621
REM 15 900 900 12 350 308
EX i 64 1913 1913 64 2,263 2,263
FERHET - - -
T BE ET 3 150 50 3 150 50
M ET - - - - — —
FOoK BT - - - — — —
EEA s et 12 430 382 12 405 355
\LEETH 12 430 382 12 405 355
3 thh i et 3 65 55 2 59 51
Zithth 1 15 12 1 19 17
&iEm 2 50 43 1 40 34
KEET
% (5 HT
] i dth 4k 51 15 620 601 17 722 607
Bl &% 15 620 601 17 722 607
/N E BT - - - - — —
NESL - - - - — —
ELLF — - - - — -
= #xET - - - - - -
PR AT - - — - — -
B BT Ex At - — — - - —
i 5t 26 930 860 26 887 835
{EN i BT 3 100 80 3 100 95
=Z B0 - - - - - —
5 3 AT - — - - - —
R {A ET - - - - — —
LLI R BT 23 830 780 23 7817 740
J\ i ET 260 8,270 6,990 247 7,460 6,240
J\Km 195 6,120 5,160 186 5,540 4610
K J 1| BT 65 2,150 1,830 61 1,920 1,630
EdihiEgEt 3 60 45
KT 1 20 15
=) 1 20 15
EZEKHT 1 20 15
TR EE Hhis B 5 57 52 5 69 48
AS
FRET 3 38 37 3 53 36
% B KRHT 1 17 13 1 15 11
ZHIE]
K EFT 0 0 0 0 0 0
HEH - - - - — -
£7|(J':' — — — — — —
LT HE 0 0 0 0 0 0
};}U%E‘i'::- — — — — _ _
HIFVYHT 1 2 2 1 1 1
K Hhis 5t 4 131 131 4 125 125
LXES 5 5 5 5
XEHh
relA:) 4 126 126 4 120 120
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(13) [E>NAES

SHI2FFE (20205 £ ) SFISFEE (2021 F )
X5 et ETE IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
#rERE (85T 466 5,030 4,480 482 4,650 4,130
BEERE(RED 262 2,461 2,245 234 2,088 1,884
REARHhigi & 56 605 539 56 540 480
REARTH 56 605 539 56 540 480
Fif i E 1 15 13 1 12 10
F1H 0 0 0
Fih
EX4:) 1 15 13 1 12 10
E & i st 2 40 10 2 40 10
REW - - - - — —
EXA - - - = — -
FERHET - - -
T BE ET 2 40 10 2 40 10
M ET - - - - - —
FOoK BT - - - - — —
EEA s et 15 163 141 14 150 130
(LEETh 15 163 141 14 150 130
3 thh i et 21 265 236 17 243 204
Zithth
&iEm 9 140 126 5 116 97
KEET
% (5 HT 12 125 110 12 127 107
] i dth 4k 51 121 824 781 113 696 661
o] &% T 3 23 21 3 21 19
/N E BT 39 258 244 35 209 198
/|\EHT 54 365 346 51 310 294
ELLF 24 173 166 24 156 150
= Fx AT 1 5 4 X X X
FEEA 0 0 0 0 0 0
B BT Ex At - — - - - —
i 5t 18 213 196 18 197 181
{EN i BT
=B 1 20 20 1 23 23
a3k BT 2 7 3 2 7 3
R {A ET - - - - - —
(LI ZRET 15 186 173 15 167 155
J\{CHhis =t
J\ftth
JKJ I ET
EdihiEgEt 3 10 4
Kk 1 4 2
=) 1 3 1
EZEKHT 1 3 1
TR EE Hhis B 25 323 322 13 207 206
AS
FRET 0 0 0 0 2 2
% B KRHT 2 2 2 1 1 1
i BT 2 41 40 3 49 48
K EFT 0 0 0 0 0
HEH - - - - — -
ﬂj{:'t' — — — — — —
LT A 0 0 0 0 0 0
ﬁkﬁé'“' — — — — _ _
HIFVYHT 21 280 280 9 155 155
K Hhis 5t 3 3 2 2
LXES 3 3 2 2
XEHh
= JL BT
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(15) PRINTGHRA

SHI2FFE (20205 £ ) SFISFEE (2021 F )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 99 2,200 2,060 100 2,360 2,210
BEERE(RED 99 2,093 1,941 106 2,381 2,234
REARHhigi & 5 111 104 5 119 112
REARTH 5 111 104 5 119 112
Fif i E 9 151 136 9 152 146
F1H 0 0 0
Fih 1 25 23 1 18 17
ES-:L) 8 126 113 8 134 129
F £ HhigET 4 37 35 3 42 38
REW - - - - — -
EX i 3 35 33 3 40 36
EEHT 0 2 2 0 2 2
T BE ET
£ IMET 0 0 0 - - -
FN7KET 1 0 0 0 0 0
EEA s et 20 354 338 20 354 358
LEE T 20 354 338 20 354 358
3 thh i et 9 142 124 9 187 166
Zithth 6 90 79 6 110 97
&iEm 2 37 35 3 47 41
KEET 1 23 21
% (5 HT 1 15 10 0 7 7
] i dth 4k 51 32 809 752 33 834 772
Bl &% 17 519 472 18 496 455
1 /NE BT 0 2 2 0 2 2
NESL 1 23 22 1 23 22
ELLF 1 33 33 2 42 38
=& 4 11 11 4 14 14
FEEA 1 6 6 1 7 7
B BT Ex At 7 215 206 8 250 234
i 5t 0 5 4 0 5 4
{EN i BT - - - - — -
=Z B0 0 0 0 - - —
a3k BT 0 5 4 0 5 4
R {A ET - - - - - -
(LI ZRET
J\ i ET 19 472 440 26 676 630
J\Km 12 352 320 20 526 480
K J 1| BT 7 120 120 6 150 150
=L g et - - - - - —
Kk - - - — — —
EJbET - - - - - -
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BERE (BED) 68 5,877 5,541 74 6,375 5,922
REARHhigi & 31 3,130 3,010 34 3,510 3,380
REARTH 31 3.130 3,010 34 3,510 3,380
FiR s s 14 1,196 1,084 14 1,261 1,125
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ES-:L) - — — - — -
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REW - - - - — —
EX i - - - = — -
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Zithth
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#rERE (85T 204 7,240 6,450 207 9,070 8,080
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X5 TR IN#E= Hir= Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 243 7,780 6.880 236 8.260 7.300
BEERE(RED 109 3,745 3,336 100 3,732 3,314
REARHhigi & 45 1,390 1,240 42 1,380 1,230
REARTH 45 1,390 1,240 42 1,380 1,230
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Fim
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E & i st 30 1,172 1,019 26 1,145 985
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5 3 AT 2 36 28 2 36 28
R {A ET - - - - - -
(LI ZRET
J\ i ET 2 34 30 2 28 26
J\Kh 2 34 30 2 28 26
JKJ I ET
EdihiEgEt 0 0 0 0 0 0
KT 0 0 0 0 0 0
=) 0 0 0 0 0 0
R KHET 0 0 0 0 0 0
TR EE Hhis B 9 229 226 7 291 278
AEh 0 1 1 0 2 2
FRET 1 33 32 1 45 42
% B KRHT 6 82 81 2 84 79
i BT 0 41 41 1 51 49
K EF 0 22 21 0 30 27
HER 0 6 6 0 10 9
AARF - - -
LT HE 0 17 17 0 18 18
BREE 1 - - — 1 12 12
HIFVYHT 1 27 27 2 40 40
K Hhis 5t 0 6 6 0 5 5
LXES 5 5 4 4
XEmH 0 1 1 0 1 1
= JL BT
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(24)-1 BREMFINIARUVIZIIMED)
SHI2FFE (20205 £ ) SFISFEE (2021 F )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
#rERE (85T 845 112,400 108,700 860 110,900 107,500
CHEEGED) 876 118,304 115,393 877 115,153 111,717
REARhigi Bt 76 10,071 9,739 79 10,155 9,844
REART 76 10,071 9,739 79 10,155 9,844
Fif i E 89 7,735 7,480 81 7,235 7,003
F+h 11 985 950 7 575 553
Figh 78 6,750 6,530 74 6,660 6,450
ES-:L) - — — - — -
F £ HhigET 229 31,832 31,142 219 29,967 28,975
ﬁ%l_'ﬁ X X X X X X
EX i 212 29,700 29,100 202 27.900 27,000
EEHT 1 32 32 1 47 45
T BE ET 2 200 190 2 200 190
M ET 14 1,900 1,820 14 1,820 1,740
F/K BT X X X X X X
EEA s et 1 42 38 1 55 52
LEE T 1 42 38 1 55 52
3 thh i et 3 145 134 1 55 52
Zithth 0 10 9 0 10 9
&iEm 1 45 43 1 45 43
KEET
% (5 HT 2 90 82
] i dth 4k 51 - - - - - -
fAl &% - - - - - -
/N E BT - - - - - -
/|\EHT - - - - - -
ELLF - — - - - -
= #xET - - - - - -
PR AT - - — - — -
B BT Ex At - — — - - —
i 5t 8 614 566 10 644 640
{EN i BT - - - - - —
=Z B0 2 220 220 4 250 250
5 3 AT 6 394 346 6 394 390
R {A ET - - - - — —
(LI ZRET
J\ i ET 458 66,720 65,190 475 65,980 64,160
J\Km 441 64,900 63,600 460 63,900 62,200
K J 1| BT 17 1,820 1,590 15 2,080 1,960
EdihiEgEt 0 35 30 0 25 18
KT 0 0 0 0 0 0
=) 0 35 30 0 25 18
R KHET 0 0 0 0 0 0
TR EE Hhis B 8 748 747 6 649 634
AS
FRET 0 2 2 0 31 29
% B KRHT 1 123 122 2 176 165
i BT 0 0 0 0 61 59
K EFT 0 0 0 0 0 0
HER 1 47 47 0 16 16
AARF - - -
T 4T 0 0 0 0 0 0
BREEFT - - - - - —
HIFVYHT 6 576 576 4 365 365
K Hhis 5t 5 363 328 5 388 340
LXES 5 5 39 39
XEmH 3 218 203 3 219 181
Z 4L T 2 140 120 2 130 120
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(24)-2 BEMFTFINITARUVIZMRMED)

SHI2FFE (20205 £ ) SFISFEE (2021 F )
X5 et ETE IN#E= Hir= Bt ETE INE= HErE
ha t t ha t t
HrERE (REH) 411 22,900 21,800 407 21,600 20,600
BEERE(RED 366 21,449 20,583 334 20,075 19,149
REARHhigi & 24 636 600 21 531 505
REARTH 24 636 600 21 531 505
FiR s s 53 1,730 1,657 41 1,441 1,372
F+h 6 160 149 4 100 93
Figh 46 1,560 1,500 36 1,330 1,270
EX4:) 1 10 8 1 11 9
E4L& it 22 1,041 988 22 994 994
REW - - - - — —
EX i 22 1,041 988 22 994 994
FERHET
T BE ET
M ET - - - - — —
FOoK BT - - - — — —
EEA s et 5 193 138 5 195 140
LEE T 5 193 138 5 195 140
% th s =t
Zithth
anm
KEET
% (5 HT
Bl ek dh 3k £ 88 6,992 6,777 86 7,027 6,766
Bl &% 56 4680 4,530 55 4,850 4,700
/N E BT - - - - — —
NESL - - - - — —
ELLF 3 231 226 2 184 177
= 2R BT 5 339 329 5 319 306
FEEA 0 2 2 0 4 3
7 e e A 24 1,740 1,690 24 1,670 1,580
28k hig 5 78 5,290 5,078 81 5,258 5,036
{iED fta T 3 92 74 3 90 72
= 5T 3 92 82 3 90 80
5 3 AT 5 166 152 5 158 144
R {A ET - - - - - -
(LI ZRET 67 4,940 4,770 70 4,920 4.740
J\ i ET 95 5,518 5,300 75 4 545 4305
I\ 91 5,220 5,010 71 4,280 4,050
K J 11 BT 4 298 290 4 265 255
EdihiEgEt 1 27 25 1 20 16
KT 0 0 0 0 0 0
=) 1 27 25 1 20 16
R KHET 0 0 0 0 0 0
TR EE Hhis B 0 21 19 2 63 14
AS
FRET 0 20 18 0 2 2
% B KRHT 2 60 12
ZHIE]
K EFT 0 0 0 0 0 0
HER 0 1 1 0 1 1
AARF 0 0 0 - - -
ITRED
EKFE'*'K' — — — — — _
HTYHE - - - — - -
K Hhis 5t 1 1 1 1
LXES 1 1 1 1
XEHh
= JL BT
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(25)-1 BEFIMDSE,ZZFTH

SHI2FFE (20205 £ ) SFISFEE (2021 F )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 354 35,000 33,900 366 35,700 34,600
CHEEGED) 309 34,705 32,410 312 35,069 32,330
REARhigi Bt 29 2,824 2,735 29 2,791 2,705
REART 29 2,824 2,735 29 2,791 2,705
FiR s s 55 4,804 4,670 45 4,090 3,958
F+h 12 1,104 1,080 8 640 608
Figmh 43 3,700 3,590 37 3,450 3,350
ES-:L) - — - - - -
E4L& it 133 14,904 13,920 133 15,296 13,974
REW - - - - — —
EX i 123 13,671 12,697 122 14,044 12,734
EEHT 1 32 32 1 47 45
T BE ET 2 170 160 2 170 160
M ET 8 1,028 1,028 8 1,032 1,032
FN7KET 0 3 3 0 3 3
EEA s et 1 27 24 1 40 38
LEE T 1 27 24 1 40 38
3 thh i et 2 90 84 1 55 52
Zithth 0 10 9 0 10 9
&iEm 1 45 43 1 45 43
KEET
% (5 HT 1 35 32
] i dth 4k 51 - - - - — —
Bl &% - - - - — -
/N E BT - - - - — —
NESL - - - - — —
ELLF — - - - — -
= #xET - - - - - -
PR AT - - — - — -
B BT Ex At - - m — — —
i 5t 5 404 363 4 275 234
{EN i BT
=Z B0 1 129 129 - - —
5 3 AT 4 275 234 4 275 234
R {A ET - - - - — —
(LI ZRET
J\ i ET 78 11,183 10,184 93 12,094 10,994
J\Km 76 10,983 9,984 91 11,888 10,808
K J 1| BT 2 200 200 2 206 186
EdihiEgEt 0 28 25 0 20 16
KT 0 0 0 0 0 0
=) 0 28 25 0 20 16
R KHET 0 0 0 0 0 0
TR EE Hhis B 1 43 42 1 19 19
AEh 0 0 0 0 0 0
FRET - — - 0 18 18
% B KRHT 1 43 42 1 0 0
,JJJ—F]IJEH]
K EFT 0 0 0 0 0 0
HER - — - 0 1 1
£7|(J':' — — —
IJJ/I’-‘_-
BREEFT - - - - — —
HIFVYHT - — - - - -
X B phis =t 6 398 363 5 388 340
LEXEmH 0 40 40 39 39
XEmH 3 218 203 3 219 181
Z 4L T 2 140 120 2 130 120

44




(25)-2 ERFTRDSE ST

SHI2FFE (20205 £ ) SFISFEE (2021 F )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 123 4,920 4,750 127 4,810 4,640
BEERE(RED 52 3,103 2,998 72 4,034 3,674
REARHhigi & 4 163 158 4 156 151
REARTH 4 163 158 4 156 151
Fif i E 16 544 523 15 533 494
F1H 3 75 70 3 76 51
Fih 13 464 450 11 453 440
ES-:L) 1 5 3 1 4 3
E & i st 20 944 708
REW - — - — — -
EX i 20 828 644 20 944 708
EEHT
T BE ET
M ET - - - - — —
FOoK BT - - - — — —
EEA s et 0 0 0 0 2 1
LEE T 0 0 0 0 2 1
% th s =t
Zithth
anm
KEET
% (5 HT
] i dth 4k 51 8 468 445 9 446 426
Bl &% 4 240 227 4 215 210
/N E BT - - - - — —
NESL - - - - — —
ELLF 0 16 16 0 16 15
= FRET 0 22 22 1 20 18
PR AT - - — - — -
A Bl ER A 4 190 180 4 195 183
i 5t 7 352 328 7 397 373
{EN i BT
=Z B0 0 14 14 - - -
5 3 AT - — - - — —
R {A ET - - - - - -
IR 7 338 314 7 397 373
J\ i ET 15 1,530 1,500 15 1,530 1,500
J\Kh 15 1,630 1,500 15 1,530 1,500
JKJ I ET
EdihiEgEt 1 27 25 1 25 20
Kk 0 0 0
=) 1 27 25 1 25 20
R KHET 0 0 0 0 0 0
TR EE Hhis B 1 18 18 1 0 0
AEh 0 0 0 0 0 0
FRET 1 18 18 0 0 0
% B KRHT 1 0 0
i BT
K EFT 0 0 0 0 0 0
HER - - - - — -
£7|(J':' _ _ _
LT A
BREEFT - - - - _ _
HIFVYHT — — - - — -
R EHhiE At 1 1 1 1
LXES 1 1 1 1
XEmH
ZJLET
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(26)-1 2&FE—<Y

SN2 (20204 )

SHSEE (2021 F )

e+ EE

INEE

YRS

INEE
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(26)-2 EME—T>

SHI2FFE (20205 £ ) SFISFEE (2021 F )
X5 et ETE IN#E= Hir= Bt ETE INE= HErE

ha t t ha t t
#rERE (85T 70 2,060 1,880 69 2.210 2,010
BEERE(RED 41 1,610 1,499 40 1,600 1476
REARHhigi & 4 116 106 4 127 115
REARTH 4 116 106 4 127 115
Fif i E 1 4 3 1 3 2
F+h - - - - - -
Fih
S EHT 1 4 3 1 3 2
E4L& it 1 15 10 1 15 10
REW - - - - - —
EXA - - - = — -
EEHT 0 0 0 0 0 0
T BE ET 1 15 10 1 15 10
M ET - - - - - -
FN7KET 0 0 0 0 0 0
EEA s et 2 56 50 2 53 48
LEE T 2 56 50 2 53 48
Zithth
KEET
% (5 HT
] i dth 4k 51 3 59 49 3 61 51
fAl &% - - - - - -
/N E BT - - - - - -
JINEL:) - - - - - -
EELLA - - - - - —
= 2R BT 2 38 34 2 40 36
PR AT - - — - - -
7 B & 4 1 21 15 1 21 15
28k hig 5 29 1,337 1,259 28 1,327 1,238
{iED fta T 1 30 29 1 30 28
=Z B0 - - - - - —
5 3 AT 2 67 60 2 67 60
R {A ET - - - - - —
| LI &R ET 26 1,24 1,170 25 1,230 1,150
J\ i ET 0 2 2 0 2 2
J\Kh 0 2 2 0 2 2
JKJ I ET
=L g et
Kk
EJbET
R KHET
TR EE Hhis B 0 19 18 1 11 9
AS
FRET 0 19 18 1 11 9
% B KRHT 0 0 0 0 0 0
ZHIE]
K EFT 0 0 0 0 0 0
HEH - - - - - -
AARF - - -
T 4T
BREE 44 - - - - - -
HTYHE - — - - - —
R EHhiE At 2 2 1 1
LXES 2 2 1 1
XEHh

= JL BT
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(27) RA—ka—>

SHI2FFE (20205 £ ) SFISFEE (2021 F )
X5 TR IN#E= H o7 Bt ETE INE= HErE
ha t t ha t t
#HERE (RE) - - " " " -
BEERE(RED 119 1,351 1,218 101 917 839
REARHhigi & 8 81 67 7 76 62
REARTH 8 81 67 7 76 62
Fif i E 3 43 37 3 42 36
F1H 0 5 5 0 5 5
Fih 1 14 12 1 14 12
S EHT 2 24 20 2 23 19
E & i st 0 0 0 0 0 0
REW - - - - — —
EX i - - - = — -
EEHT 0 0 0 0 0 0
T BE ET
M ET - - - - - —
FOoK BT - - - - — —
EEA s et 9 74 68 9 66 64
LEE T 9 74 68 9 66 64
3 thh i et 50 664 595 26 219 215
Zithth 1 13 12 1 11 10
&iEm 5 50 48 7 80 77
KEET
% (5 HT 44 601 535 18 128 128
] i dth 4k 51 1 9 9 1 13 13
fAl &% - - - - - -
/N E BT - - - - - -
/|\EHT - - - - - -
ELLF 1 9 9 1 13 13
= #xET - - - - - -
PR AT - - — - — -
B BT Ex At
i 5t 12 140 132 12 147 138
{EN i BT 0 8 8 0 6 5
=Z B0 1 3 3 1 3 3
5 3 AT 2 38 30 2 38 30
B {Z BT 9 91 91 10 100 100
IR
J\ i ET 21 161 147 25 185 167
J\Kh 21 161 147 25 185 167
JKJ I ET
EdihiEgEt 0 21 14 0 21 16
KT 0 5 3 0 6 4
=) 0 8 6 0 10 8
EZEKHT 0 8 5 0 5 4
TR EE Hhis B 1 7 7 3 8 8
AEh
FRET 0 0 0 0 0 0
% B KRHT 1 5 5 1 2 2
i BT 0 0 0
K EF 0 0 0 0 0 0
HER - - - - - -
£7|(J':' — — —
LT A
ﬁkﬁﬁ'i'::' — — — — _ _
HIFVYHT 0 2 2 2 6 6
K Hhis 5t 14 151 143 15 140 120
LXES 12 120 118 11 99 97
XEmH 3 31 25 4 41 23
ZJLET
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REMEFX

31) W62
SHI2FFE (20205 £ ) SFISFEE (2021 F )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 305 12,200 11,500 298 12,100 11,500
BEERE(RED 224 9,443 8,741 218 9,318 8,601
REARHhigi & 17 680 641 17 678 644
REARTH 17 680 641 17 678 644
Fif i E 12 526 491 11 499 467
F+h 4 165 160 4 167 162
Fih 8 350 321 7 321 295
ES-:L) 0 11 10 0 11 10
E4L& it 52 2574 2,355 49 2,574 2,328
REM 0 15 15 0 12 10
EX i 46 2,296 2,091 44 2,305 2,075
EEHT 2 86 84 2 80 78
T BE ET 0 12 11 0 12 11
£ IMET 0 0 0 - - -
FN7KET 3 165 154 3 165 154
EEA s et 22 780 653 22 762 635
LEE T 22 780 653 22 762 635
3 thh i et 7 292 269 9 264 251
Zithth 5 230 217 6 202 192
&iEm 1 30 23 1 27 28
KIEHT 0 8 8 1 9 8
% (5 HT 1 24 21 1 26 23
] i dth 4k 51 13 592 582 10 466 451
Bl &% 11 490 488 8 365 359
/N E BT - - - - — —
NESL - - - - — —
ELLF 0 2 2 - - -
= #xET - - - - - -
FEEA 1 45 40 1 46 40
A Bl ER A 1 55 52 1 55 52
i 5t 9 336 322 9 388 377
{ENfin BT 0 2 2
=Z B0 3 90 90 3 102 102
5 3 AT 0 1 1 0 1 1
B {Z BT 1 21 21 1 23 23
IR 5 224 210 5 260 249
J\ i ET 73 3,080 2877 74 3,139 2,937
J\Km 26 1,200 1,091 28 1,207 1,097
K J 1| BT 47 1,880 1,786 46 1,932 1,840
EdihiEgEt 0 14 10 0 14 12
KR - - - - - -
=) 0 14 10 0 14 12
R KHET - - — - - -
TR EE Hhis B 17 489 480 15 463 443
AEh 1 49 49 1 46 45
FRET 1 20 18 1 16 15
% B KRHT 5 73 72 5 72 68
i BT 2 50 48 1 55 54
K EF 3 83 82 2 91 80
HER 1 66 64 1 54 52
AARF
TR 5] - - -
BREE 1 1 25 25 1 22 22
HIFVYHT 3 123 123 2 107 107
K Hhis 5t 3 80 61 4 70 56
LEXEmH - - —
XEmH 3 80 61 4 70 56
= JL BT

52




(32) Ao

SHI2FFE (20205 £ ) SFISFEE (2021 F )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 862 24,400 23,100 849 25,400 24,000
CHEEGED) 371 10,547 9,936 373 10,886 10,255
REARhigi Bt 139 3,934 3,724 136 4073 3,848
REART 139 3,934 3,724 136 4073 3,848
Fif i E 71 1,835 1,755 70 1,725 1,651
F+h 11 310 305 11 312 308
Fih 54 1,424 1,357 53 1,310 1,248
S EHT 6 101 93 6 103 95
E4L& it 2 70 60 2 59 49
REW - - - - — —
EX i 0 17 17 0 6 6
EEHT 0 0 0 0 0 0
T BE T 2 50 40 2 50 40
M ET - - - - - —
FN7KET 0 3 3 0 3 3
EEA s et 31 711 652 31 713 675
(LEETh 31 711 652 31 713 675
3 thh i et 27 743 701 27 607 595
Zithth 23 590 562 24 506 497
&iEm 0 0 0
KIEHT 1 48 44 2 62 59
% (5 HT 3 105 95 1 39 39
] i dth 4k 51 5 52 48 5 52 48
fAl &% 1 7 7 1 4 4
/N E BT - - - - - -
/|\EHT - - - - - -
ELLF — — - - - -
= FRET 2 25 23 2 27 25
PR AT - - — - — -
A Bl ER A 2 20 18 2 21 19
i 5t 3 50 43 3 50 43
{ENfin BT - - - 0 0 0
=Z B0 - - - - - —
5 3 AT 3 50 43 3 50 43
B {Z BT 0 0 0 0 0 0
IR
J\ i ET 54 2,176 1,981 67 2,653 2,419
J\Km 52 2,112 1,920 65 2,585 2,354
K J 1| BT 2 64 61 2 68 65
=L g et - - - - - -
Kk - - - — — —
=E[d:] - - - - - —
R KHET - - — - — -
TR EE Hhis B 39 974 970 33 952 924
AEh 0 15 15 0 6 6
FRET 5 120 120 4 133 133
% B KRHT 19 393 391 16 383 360
= BIET 2 56 54 2 47 45
K EF 1 26 26 1 21 18
HER 3 53 53 2 56 56
FEARF — _ — — — —
T 4T 0 4 4 0 4 4
BREEFT - - - - — —
HIFVYHT 9 307 307 8 302 302
KEHIFET 2 2 2 2
LXES 2 2 2 2
XEmH
= JL BT
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(33) FLyh

SHI2FFE (20205 £ ) SFISFEE (2021 F )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 1,290 49,900 47,000 1,280 49,300 46,400
BEERE(RED 696 25,386 23,828 687 25,000 23,211
REARHhigi & 330 12,771 12,029 327 12,578 11,838
REARTH 330 12,771 12,029 327 12,578 11,838
FiR s s
Fim - - - - - -
Fih
ES-:L) - - — - — -
F £ HhigET 26 746 693 27 733 679
REM 1 15 15 1 12 11
EX i 0 6 6 0 0 0
EEHMET 16 352 336 16 348 332
T BE ET 0 3 3 0 3 3
M ET - - - - - —
FN7KET 10 370 333 10 370 333
EEA s et 180 7,030 6,570 182 7,200 6,550
LEE T 180 7,030 6,570 182 7,200 6,550
3 thh i et 92 2,987 2,780 89 2,776 2,520
Zithth 5 145 131 5 140 127
aEm 85 2,800 2,614 82 2,591 2,355
KEET
% (5 HT 2 42 35 2 45 38
Bl ek dh 3k £ 0 0 0 0 0 0
fAl &% - - - - - -
/N E BT - - - - - -
/|\EHT - - - - - -
ELLF - — - - - -
= #xET 0 0 0 0 0 0
PR AT - - — - — -
B BT Ex At - - — - - —
28k hig 5 65 1,824 1,733 60 1,684 1,600
{EN i BT - - - 0 0 0
=Z B0 - - - - - —
5 3 AT 65 1,824 1,733 60 1,684 1,600
R {A ET - - - - — —
(LI ZRET
J\ i ET 0 3 2 0 3 2
J\Kh 0 3 2 0 3 2
K J 1| BT
=L g et - - - - - -
Kk - - - — — —
EJbET - - - - — —
R KHET - - — — — -
Bk EE fhigh 5+ 1 5 3 0 4 3
AEh
FRET 0 0 0 0 2 2
% B KRHT 1 5 3 0 2 1
i BT
K EFT 0 0 0 0 0 0
HER - - - - — -
£7|(J':' — — — — — —
LT A - - -
BREE 1 - - - - - -
HIFVYHT - — - - - -
R EHhiE At 2 20 18 2 22 19
LXES 2 2 4 4
XEmH
Z 4L T 2 18 16 2 18 15

94




